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F =25kH, P =3kH, M = 8xHwm, cosa = 0.8.
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F =25kH, P =4xH, M = 4xHwm, cosa = 0.8.
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F=15kH, P =12kH, M = 7xHwm, cosa = 0.8.
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F =25kH, P =3kH, M = 4xHwm, cosa = 0.8.
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F =40kH, P = 3kH, M = 5xHwm, cosa = 0.8.
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F =20kH, P =1kH, M = 4xHwm, cosa = 0.8.

3amaua S29.7. 10

A

M B

3Ty g F

F=35kH, P =11kH, M = 12kHwm, cosa = 0.8.
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F=80kH, P =1kH, M = 18 kHwm, cosa = 0.8.
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F=5xH, P=1kH, M = 3xHwm, cosa = 0.8.
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F =20kH, P =1kH, M = 4xHwm, cosa = 0.8.
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F =55kH, P =3kH, M = 9xHwm, cosa = 0.8.
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F =30kH, P =4xH, M = 7xHwm, cosa = 0.8.
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F=30kH, P =1kH, M = 12xHwm, cosa = 0.8.
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F =35kH, P =24kH, M = 7xHwm, cosa = 0.8.
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F =35kH, P =2kH, M = 8xHwm, cosa = 0.8.
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F =35kH, P =2kH, M = 8xHwm, cosa = 0.8.
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F=15xH, P =4xH, M = 3xHwm, cosa = 0.8.
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F =25kH, P=2xH, M = 17xkHwMm, cosa = 0.8.
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F=5xH, P=2kH, M = 10kHwm, cosa = 0.8.
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F =25kH, P =9kH, M = 7xHwm, cosa = 0.8.

F=35kH, P =1kH, M = 9xHwm, cosa = 0.8.
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F =50kH, P =3kH, M =23 kHwm, cosa = 0.8.
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F =15kH, P =2kH, M = 6 xHwm, cosa = 0.8.
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F =10kH, P =1kH, M = 8kHwm, cosa = 0.8.
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F =15kH, P =5kH, M = 25kHwMm, cosa = 0.8.
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F =50kH, P =1kH, M = 4xHwm, cosa = 0.8.
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F =50kH, P =4xH, M = 23xHwm, cosa = 0.8.
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F =45xkH, P =4xH, M = 16 kHwMm, cosa = 0.8.
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F=25kH, P =1kH, M = 10kHw™m, cosa = 0.8.
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F =15kH, P =1kH, M = 8kHwm, cosa = 0.8.
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F=70kH, P =4xH, M = 17xHwm, cosa = 0.8.
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F=35kH, P =6kH, M = 30kHMm, cosae = 0.8.
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F=15kH, P =1kH, M = 4xHwm, cosa = 0.8.
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F =100kH, P =3kH, M = 12kHwMm, cosa = 0.8.
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Ne XA YA MA XB YB MB YC
1 20 18 21 — — — —

2 20 19 322 — — — —

3 —12 | — — — 3 130 —

4 —20 | — — — —12 94 —

5 32 — — — 27 134 —

6 3 — — —-19 | — — —11
7 —28 | — — — —10 —-279 | —

8 64 49 — — — 177 —

9 -8 -2 — 4 — — —
10 | 21 13 — —5 — — —

11 | 44 23 — — 13 — —
12 | 24 22 —191 | — — — —
13 | 24 — — — — -8 19
14 | 28 — — — 45 —61 —
15 | —28 | =19 | — — — —42 —
16 | —28 | — — — —45 — 26
17 | — 13 — 12 — 75 —
18 | —20 | — — — — —37 —13
19 | —26 |5 — 30 — — —
20 | 40 — — — — —51 33
21 | 20 — — — 24 69 —
22 | =28 | — — — —20 —170 | —
23 | 19 11 — -7 — — —
24 | -8 — — — — 78 -5
25 | 21 14 — -9 — — —
26 | —40 | 25 — — —54 — —
27 | 40 — — — — —413 | 34
28 | 18 —23 | — —54 | — — —
29 | =20 | — — — — —224 | —14
30 | —12 | -8 —137 | — — — —
31 | 28 — — — 37 — —10
32 | 56 46 — — — 787 —
33 | 12 10 — — — 156 —
34 | =80 | 51 — — —108 | — —
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